| Efficiency vs Dxy |

........................................................................

........................................................................

~0.01r
x -
j®) C
@009F
= u
@osf-
KT
@007
o F
0.006F
0.005F
0.004f
0.003f
0.002f
0.001F
o+
T
1=

0.95

OJ-'\-Q Illlillllillllillllilll \ Illillllillllillllillll

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

| Efficiency vs Dz |

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0

—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi

PCutOverlap

nNO0.01,
S

.....................................................................

20 =10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


